5/16"-18 x 3 1/2" HH BOLT
TRI-STUD CAP

RETAINING WASHER

PLUMBIZER ARM
CAST 535 ALUMINUM

5/16-18 x 1" HH BOLT

K

SHURLOCK SPACER

CAST 535 ALUMINUM——

3/8"16 x 4 1/2" HH BOLT
3/8"-16 NYLON LOCK NUT
(2) 3/8" FLAT WASHER

CAST 535 ALUMINUM
GASKET

RETAINING WASHER
5/16" KEPS NUT

COVER PLATE
CAST 535 ALUMINUM

1/4"-20 x 3/4" HH BOLT

THE INFORMATION CONTAINED IN A——
THIS DRAWING IS THE SOLE gl i

PROPERTY_OF SKYBRACKET. ANY “H‘I

WITHOUTTHE WRITEN PERMSSION MAST A NOUKTING B4 RRWARE
NOTES: OF SKYBRACKET IS PROHIBITED. i
1. PLATED STEEL HARDWARE. ol W o HAWK, PLUMBIZER
2. STAINLESS STEEL HARDWARE AVAILABLE. = °  TRe 808728

A7 SB-THAK

DO NOT SCALE DRAWING SCALE: NTS CAD FILE: SB-THAK SHEET  10OF1



	Sheet1
	Drawing View2


